
PACK P/M

1 Top Panel(565x458x30mm) A4000332 R65107 Wood 1 K M

2 Handle A4000332 R65108 Metal 1 G P

3 Left Panel(825x435x15mm) A4000332 R65109 Wood 1 K M

4 Middle Panel(430x515x15mm) A4000332 R65110 Wood 1 K M

5 Bottom Panel(430x512x15mm) A4000332 R65111 Wood 1 K M

6 Lock Caster A4000332 R65112 Metal+Plastic 2 G P

7 Top Stretcher(430x40x20mm) A4000332 R65113 Wood 1 K M

8 Knob (w/Bolts) A4000332 R65114 Metal 2 G P

9 Door(425x305x20mm) A4000332 R65115 Wood 1 K M

10 Right Panel (825x435x15mm) A4000332 R65116 Wood 1 K M

11 Middle Frame(412x432x20mm) A4000332 R65117 Wood 1 K M

12 Back Panel(449x486x5mm) A4000332 R65118 Wood 1 K M

13 Door Hinge (w/Screws) A4000332 R65119 Metal 2 G P

14 Drawer Back(380x100x12mm) A4000332 R65120 Wood 1 K M

15 Drawer Left Side(350x100x12mm) A4000332 R65121 Wood 1 K M

16 Drawer Right Side(350x100x12mm) A4000332 R65122 Wood 1 K M

17 Drawer Front(425x112x15mm) A4000332 R65123 Wood 1 K M

18 Drawer Bottom(390x348x3mm) A4000332 R65124 Wood 1 K M

19 Drawer Glide(M+F)(35mmWx350mmL) A4000332 R40411 Metal 2 F P

20 Caster A4000332 R65125 Metal+Plastic 2 G P

21 D-Nut (5/16in x 25mm) A4000332 R43690  Metal 4 G P

22 Hardware Pack A4000332 R65126

6×34mm Cam Lock (22)

15x9mm Nut (22)    

8x35mm Screws (4)

6x12mm Screws (12)       

1/4x50mm Bolt(2)                

    1/4 Lock washer(2)     

      1/4 Flat washer(2)      

    4mm Allen Wrech(1)

1 G P

MATERIALPART# FOB $

SIGNATURE DESIGN BY ASHLEY®

MRP#

Page 1 Of 2

QTY.

REPLACEMENT PART DESCRIPTION FORM
MODEL #: A4000332

FACTORY USE ONLY!!

February 2019

PRICE ¥DESCRIPTION USED ON:

All Rights Reserved.



SIGNATURE DESIGN BY ASHLEY® All Rights Reserved. Feb, 2020 Page 2 Of 2

REPLACEMENT PART DESCRIPTION FORM
MODEL #: A4000332

20

1

2

3

4

5

6

8

9

10

7 11

4

10

13

12

14

15 17

16

18

196

22

21


